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April-2017
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CE-203 A : Adv. Acc. & Auditing
(Cost Accounting-11)

New
Time : 3 Hours| ( ) [Max. Marks : 70

I.  The following Particular is obtained from the book of Vadalawala Mfg. Co. Ltd. for

the year 2016 : 14

Production and Sales 20,000 Units

4

Direct Material 12.00,000

Direct Wages 10,00,000

Direct Expenscs 8.00,000

Factory Overheads 6,00,000

Oftice Overheads (Fixed) 4,00:000

Selling Overheads 2,00,000

Profit 8,40,000

50,40,000
It is ascertained that factory overheads fluctuate variable and fixed in the ratio 2 : | and
80% sclling Overheads fluctuate with sales.
During the year 2017. it is anticipated that the production and sales will be of
50.000units. All direct expenses and variable factory overhead per unit will increase by
10% : fixed factory overheads will increase by Z 3.50.000: Office overheads and selling
overheads will increase by 25%.
Preparc a cosl sheet for the year 2017 showing the price at which the unit will be sold
so as to earn same rateé of profit on cost as in the year 2016.
OR
9 P.T.O.
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- The Profit and Loss Account of Shweta Ltd. for the year ending on 31" March 2016 s

as under : o
Dr. Profit and Loss A/c Cr.
Particulars 4 Particulars . .
To Opening Stock 3.60,000 | By Sales : (75.000 Units) ' a
(Finished Stock 6000 Units) By Closing Stock 6,60,000
To Direct Materials 24,00,000 | (Finished Stock 11,000 units)
To Direct Wages | 12,00,000
To Factory Expenses 8,00,000
To Gross Profit : 25,00.000
72.60,000 72,60,000
| To Office Expenses 4,00,000 | By Gross Profit 25.00,000
To Selling Expenses 4,50,000
To Net Profit I 16.50,000 | |
al 25,00,000 25,00,000

The company will produce 1,200000 units and 1.00.000 units will be sold during 2017,

the estimates for ehanges in'various items are as under :
(1) The price ofmaterials will go up by 20%.

(2) Inadditions to the proportionate increase in number of workers, another additions

wages € 3.60.000 are to be paid.

(3) " Eactory expenses will rise in proportion to the combined cost of materials and

Wages.
(4) Administrative expenses per unit will be reduced by 20%.
(5) Selling expenses per unit will go up by 2 2.
(6) Last year’s percentage of profit on selling price is to be maintained.

Prepare cost sheet for the March 2017 on the basis of the above information.
AR-101 10



2. The following figures are available from Kavisha Ltd."s financial accounts for the year

ended 31-3-2016. 14
L Particulars L4
Direct Matenial consumption - 2.05,000
f Direct Wages | 2.20.000
| Factory Overheads - | 1.10.000
Administration Overheads 1,15,000
Selling and distibution overheads 1,.30.000
Interest and Divided Received o 40.000
Share transfer fee 60.000
i Penalty paid 20.000 |
Legal charges - 30.000
Primary expenscs written oft 40.000
Sales (40.000 Units) 5.00.000
|. Closing Stock : | '
Finished Stock (10.000.units) 1.00,000 |
Work-in-progress (at Prime gost in both books) 40,000 l

The Cost Accounts reveal :
(1) Direct Matenal consumption < 2.00.000.
(2) Direct Wages T 2.40.000).
(3) Factonv v erheads at 23%, on prime cost.
(#4)  Administration overheads at ¥ 2 per unit of production.
(3).Sclling and Distribution overheads at ¥ 3 per unit sold.
Prepare:

(i) Cost sheet

(i) Financial Profit and Loss Account.

(iti) Statement reconciling the Profit disclosed by the cost sheet and Financial
Profit and Loss Account.

OR

AR-101 1] P.T.O.



2,

(A) Financial account of Saloni Ltd. Reveal :

Office Overheads T 1,47,000
Seclling Overheads T 92,000
Closing Stock T 13,500
Net Profit 3 1,00,000

It is found that :

(i)  Office Overhead shown in financial account 59, more in comparison to cost

Account. .
(i) Selling overhead shown in financial account g9, Jess in comparison to cost
Account. :
(iii) Closing stock shown in financial account 10% less in comparison to €ost
Account. ’

Find out the profit as per cost account.
(B) Explain : Over recovery -and Under recovery of overh
(C) Which items are not recorded in cost account explaifiwith example.

cads in cost accounts. 4

Labdhi Transport Company maintains a flect of | 5’buses as follows : 14

10 Buses (90% seats are occupied in cach trip)

5 Buses (75% of seats arc occupied in each t¥ip)

Caring capacity of each bus is 40 passengers. Each bus makes siX
a day covering a distance of 20 km in one journgy. Assuming that flect is on
days in a month, work outsthe ©perating cost per passenger kilometer

-trips (Round Trip) in
road for 25
using the

following particulars :

Particulars <
Wages per driver l 0.000 | per month
Wages per condugter(2 conductors in a bus) 4,500 | per month
Tiffin allowance per driver 180 | per day
Tiffin allowance perconductor 90 | per day
Diesel 5'km per htre at 15 | per litre
Oil 3 | per k.m.
Repairs per bus on an average 3,600 | per month
Tyres. Tubes cte. per bus 5,400 | per month
Depreciation for all buses 32,40,000 | per annum
Servicing etc. per bus 21,600 | per annum
Interest on borrowed capital for all buses 16,20,000 | per annum
Insurance per bus 10,800 | per annum
Road tax per bus 21,600 | per annum
Misc. expenses per bus 32,400 | per annum
General supervision charges 6,48,000 | per annum

OR

AR_10I 12




3. (A) From the following particulars of Kaivan Transport Company, find out rent per

(C) State the unit cost in the following service company :

AR-101

passenger kilometre :

(i) Cost price of the bus is ? 15,00.000 and its estimated llf: is 3.00,000

kilometres.

(i)  During the month bus had done 10 round trips for 25 days, bet*

places, having distance of 50 kilometres.

(i1i) Details regarding passengers :

Kilometres Passenger
10 40,000
20 20,000

(iv) Expenses during the montl

Diesel 1.

4

NS

Salary of Driver 75,000

Oil 3 50.000
Repai 4 25,000
lo < 15,000
tubes T 10,000

Cal ¢ 20% profit on cost.

in : Characteristics ot Operating Costing.

(i)  Torrent power Electricity Company
(ii) Hotel Taj _
(iii) V. S. Hospital

13

40 10,000
50 8,000 E
0

~c‘>S
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4. The tollowing particulars are obtained from the books of Rupesh Construction

Company Limited for the contract costing T 30.00.000 :

-

(Cost price 26.400)

Other information :

(i)

R,

Machines arc depreciated at 25% on straight line method. -

Particulars 31-12-2015 | 31-12-2016
Work-in-Progress Alc : - oy
Certified Work 12.00,000 | 24.00.000
Uncertified Work 1,20,000 [ 2.40,000
Materials ' 12.000 24,000
Machines (after Depreciation) | 1,20.000
(Cost price of machine T 2,40,000)
Reserve Profit L L____Z.SNJOO

Particalars | 11°2016.10 31-12- ‘ 1-142017 to 31-3- 2017
2016 Actual Cost (?) Estimated Cost (3)

Materials Expenses 6,00,000 - 2.40,000
Labour Expenses 3.00,000 24,000
Indircct Expenses 1.50.000 2.400
Sales of materials 24.000 -

(i1) The contract would'be complcted by 31-3-2017,

(111) The value of materials on hand will be T 5.000,

From the above danformation :

a
" deposited in profit-loss A/C
(b).  Prepare 'ro-tforma Contract Account showing estimated profit.
OR
4.  (A) Fellowing details has been taken from the costing records of a Sapana Ltd. for the
Job No. 9.
(1) Materials : T 22,500
(i) Wages:

Prepare Contract Account for the year ended on 31-12-2016 and profit to be

AR-101

Dcpurtﬁwnt A 150 hours @ 2 15 per hour
Department B 90 hours (@ T 12.5 per hour
Department C 60 hours w T 7.5 per hour
Départmcnl D 30 hours (@ X 5 per hou

14

7
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(iii) Variable ov o
(1) Variable overheads for these departments were estimated as follows :

Variable Overheads J A B C D
Factory overheads T 30,000 | 25,000 | 15,000] 2,000 |
Office overheads 2 30,000 | 20,000 [ 10,000 [ 1,000
Selling overheads ¥ 15,000 11,250 [ 5,000 | 750

(iv) Labour hours for these four departments are as under :
A 5.000 hours, B 4,500 hours C 3,000 hours D 500 hours
(v) Fixed overheads estimated ¥ 2,12,500 for 17.000 normal working hours.

(vi) You are required to calculate the cost of the job and selling price of the job
to get 25% profit on selling price. ' |

(B) Explain Cost Plus Contract.

(C) Write Short Notes : Mcaning and uses of Batch Costing.

(1)

(2)

(3)

AR-101

Choose the correct option from the given options : (Any Seven)

14

Cost per passenger k.m. 1s # (.32, Distance between two cities is 150 km. Profit
expected is 40% of fare income> What will be the bus fair ?

(a) T32 (b) T67.2

(¢) T80 (d) None

1.20.000 and total factory cost

Prime’ cost. T 75,000, C onversion costs
The cost of

# 1.50.000 are occurred for the production of 500 units in a company.
direct labour is

(@) ¥ 75,000 (b) ¥ 30,000

(¢) T45.000 (d) T 60,000

The main objective of keeping Cost Account 1s
(a) To determine the selling price
(b) To keep control over cosl

(c) To getthein formation about the per unit cost
(d) All of the above
15 P.T.O.
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(6)

(7)

(8)

(9)

AR-101

Indirect exp. as per cost accounts are T 2,500 and actual indirect exp. are ¥ 3,125,
[t will be considered as :

(3)  Over absorption 25% (b) Over absorption 20%
(¢)  Under absorption 25% (d)  Under absorption 20%
Expenses not recorded in Financial Account

(a) Bank Interest (b) Commission

(c) Rent of own house (d) dfﬁcc salary

In a factory, the annual batch consumption of materials is %720 units, The

setting-up cost ete. is T 12, Annual interest rate is 10%, the W“ﬂ cost of onc
unit is ¥ 8. Find out Economic batch size.

(@) 750 Units (b) 500 Units
(c) 540 Units (d) None

In a job, material and wages arc T 200 and T 100 respectively. Factory expenses
are added at 60% of wages and Administrative expenses are added 25% of factory

cost. What will be price of the job, if 20% profit on cost is expected ?
(@) 540 (b) T560
() 500 (d) None

Profit of a contract credited to P& L A/c is T 2.88.000. This amount is calculated
on the basis of 2/3 of 80% eash receipt. Find out total profit of contract.

(a) ¥5.40.000 (b) T 2.40.000
(c) T 2,00,000 (d) None
Escalation elause means

(a)« Inerease in contract price due to price hike in materials and labour.

(b)  Cost plus contract

¢} Inereasc in price of contract at fixed percentage per annum.

(d)> Cost of contract + Profit.
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